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Yes, it is true, Market Failures do not only happen in cities and in huge corporation conglomerates.  Surprisingly enough, some market failures are involved with and affect our national parks.  As a matter of fact there are market failures in our first and most well known national park, Yellowstone, and also in the surrounding forests.


A few of these market failures are caused by the pollution which spilled into Yellowstone lake in 1998.  The cause of this pollution was the rupture of  sewage lines in two separate incidents.  These sewage lines dumped more than 225,000 gallons of sewage into Yellowstone Lake, where it was later distributed to surrounding tributaries.  As a result many negative externalities have been created.  Yellowstone is visited by about three million people in the summer alone.  These visitors expect to see beautiful sights, stay in nice hotels, and eat at decent restaurants.  However, due to the pollution and the broken sewage mains some of these institutions and benefits are being affected in a negative way.  Some of the restaurants and hotels are being forced to shut down because their sewage systems, which are still damaged, can no longer withstand the burden of the numerous visitors.  Some of the shops and inns which have decent plumbing are still closing their doors to the public because of pollution in the tap water.  As if this wasn’t enough, more people are losing out because they can no longer visit their favorite fishing, hunting, or bird watching site, and enjoy it, because the contaminates have killed the wildlife or there are groups of people cleaning up, researching, or simply observing the destruction caused by the pollution.  

Another market failure is that caused by the massive amount of people who visit Yellowstone.  When people are entering the park there are often traffic jams.  As a result of this there is a loss of the time that could have been spent in the park.  Also the cars which are parked in the park, and the numerous people wandering around inside the park, takes away from the scenery and privacy which could be experienced if fewer people were allowed in the park at the same time.  A market failure that occurs in the forest which surrounds Yellowstone involves the logging industry.  The loggers often clear cut these forests and as a result create a void in the forest.  This void then decreases the value of the forests to the people who would enjoy to hike, bird watch, and camp in these forests.   


In all of these cases a market failure was evident, that is there was an action caused by a producer which negatively affected other nonaffiliated producers and consumers.  In the case of the hotels and restaurants a market failure was observed, because the broken sewage lines caused an inefficient amount of pollution, and as a result their business has either dropped or was closed completely.  The visitors who came to view a pristine and natural environment observed a different type of market failure.  This type of market failure was also caused by an inefficient amount of pollution, but didn’t affect the person’s business or monetary standing.  Rather it lessened the enjoyment and fun that the person would have had if the habitat had been undisturbed.  In either case there is an inefficient amount of pollution and the negative externality is causing total surplus to drop.

